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Project Name : Designer : Date : ©O4/092/20247age : 1
A EAZ=A
MEI|E/AMEMNE
oA 7 & KDS20621-CONC.
23 E AFZE : faa= 30 N/mm?
Ho 852k : fy = 480 N/mm?2
N
H = : b =180 mm
H = : h = 1566 mm
ME A =
Ho| AZ : L =14.06 m
Ho| o1 MEj LT A%
E5tEe| X|&5HE HIE 100 %
AR HE
LH=HE AR :15/0-D25 StREAEZ:15/6-D25
SUL AHAA:15/8-D25 SHE&Z:15/6-D25
QTR : AR A:15/6-D25 StEAEZ:15/6-D25
HMHEZ X5 : D13
=0|E £ 40 mm
0 A e,
L= Mg = 1633.0 kN-m M = 490.0 kKN-m
AL Mg = 817.0 kKN-m M = 245.0 kKN-m
QTR Mg = 1633.0 kN-m M = 490.0 kKN-m
G LHENE QECIODRIDHIE H|A,
A =
d = 1435 mm, ye = 7506 mm
As = 7601 mm?2, Als = 7601 mm?2
Ma = 1633.00 kN-m, M = 490.00 kN-m
Msuis = Mg + Mix1.00 = 2123.00 kN-m
M=o d4&
Ec = 27537 N/mm?2, Es = 200000 N/mm?2
n = Es/Ec = 7.2630
fr = 0.63\/f« = 3.45 N/mm?2
CHHOX[ R HIE
Ig = bh3/12 = 58625000 cm*
M HEHHX R HE
B = b/(nAs) = 9.833 mm
r = (n-1A’s/(nAs) = 09.862
kd = [~\/2dB(1+rd’/d)+(1+r)2 -(1+r)1/B = 251 mm
I = b(kd)3/3 + nAs(d-kd)? + (n-1)A’s(kd-d’)2 = 8846160 cm*
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SHHH2X R
Mecr = rIg/Yt = 2329.19 kKN-m
Me/Ma = 1.43 > 1.00
(Ieda = Ig = 50625000 cm*
Mcr/Msys= 1.106 > 1.00
(Ietdsus = Ig = 58625000 cm*
M/ Mg = 1.106 > 1.00
(TIer)an = Ig = 50625000 cm*
T EUE QESTBOXIDHE HA,
M7 =
d = 1435 mm, e 750 mm
As = 7601 mm?2, Als = 7601 mm?2
Ma = 817.60 kN-m, M, = 245.80 kN-m
Msus = Mg + Mix1.00 = 1862.00 kKN-m
CHH2XIHHE
Ig = bh3/12 = 58625000 cm*

AL THH2X IR HIE
B
r

T ATH2XIEHE

B = b/(nAs) =
r = (N-1DA’s/(nAs) =
kd = [/2dB(1+rd’/d)+(1+r)2 -(1+r)1/B =

= b/(nAs) = 0.833 mm
= (N-1DA’s/(nAs) = 0.862

kd = [~\/2dB(1+rd’/d)+(1+r)2 -(1+r)1/B = 251 mm
I = b(kd)3/3 + nAs(d-kd)2 + (n-1)A’s(kd-d’)2 = 8846160 cm*

S SCHH2X DM E
M= fiI g/Yt = 2329.19 kKN-m
Mo/My = 2.85 > 1.00
(Imidda = Ig = 50625000 cm*
Mer/Msus= 2.19 > 1.00
(Imid)sus = Ig = 50625000 cm?*
Mc/Mgs = 2.19 > 1.00
(Imiddan = Ig = 50625000 cm*

42T QS THHIXITHIE AL,

M7 =
d = 1435 mm, ye = 750 mm
As = 7601 mm?2, Als = 7601 mm?2
Md = 1633.00 kN-m, M = 490.00 kN-m
Msuis = Mg + Mix1.00 = 2123.00 kN-m

CHHOX| R HIE

Ig = bh3/12 = 50625000 cm*

0.633 mm
0.862
251 mm
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FETH2XILHE

M= filg/yt = 2329.19 kN-m
Mc/Mg = 1.43 > 1.00
(Ie2da = Ig = 50625000 cm*
Mecr/Msus= 1.1 > 1.00
(Ie2dsus = Ig = 50625000 cm*
Mcr/Mas = 1.10 > 1.00
(Ie2)an = Ig = 50625000 cm*

I = b(kd)3/3 + nAs(d-kd)? + (n-1)A’s(kd-d”)> = 88461606 cm*

A@d SECHH2XIRHIE AH|AH,

(Te)a+

0. 7%(Imid)a« + 0.15%(Ie1)ds + B.15%(Ie2)a+

(Ie)a = ©.7%(Imia)d + 0.15%(Ie1)a + ©.15%(Ie2)d = 50625600 cm*
(Idsus = ©.7%(Imia)sus + 0.15%(Ie1)sus + 0.15%(Ie2)sus = 50625000 cm*
50625000 cm*

AT HE

EFMRE, ©7IXH

K = 0©.6000

(4)a = Kx5MylL2/48Ec(Ie)d = 8.72 mm

(Ai)sus= Kx5MsusL2/48Ec(Ie)sus = 0.923 mm

(A)as = KxBMgul2/48E(Ie)d+ = 0.93 mm

(4 = (4dan - (Qida = 0.22 mm < L/360

ME s5a0Me E7IXME

& = 2.0000, p’ = ©.0029

A = &/(1+50p") = 1.7434

Acp"’Ash = /]x(Ai)sus = 1.63 mm

Aiong = Acp"'ﬁsh"'(ﬂi)l = 1.84 mm < L/480

38.89 mm -—=> 0.K.

29.17 mm -—> 0.K.
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